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DATA TABLE

1. What is Varun's overall percentage in the

examination?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Rw8Rg1BCBYol

° Watch Video Solution

2. If in order to pass the exam, a minimum of
95 marks are needed in Science, how many

students pass in the exam?

° Watch Video Solution

3. What is the respective ratio of total marks

obtained by Veena and Shreya together in


https://dl.doubtnut.com/l/_Rw8Rg1BCBYol
https://dl.doubtnut.com/l/_R0zZj71vnsJM
https://dl.doubtnut.com/l/_NY6Ds2GY1Hle

Mathematics to the marks obtained by Rahul

in the same subject?

° Watch Video Solution

4.The number of candidates appearing for the
exam from city C' is what percent of the

number of candidates appearing for the exam

from city B?

o Watch Video Solution



https://dl.doubtnut.com/l/_NY6Ds2GY1Hle
https://dl.doubtnut.com/l/_Je0I72KU8DSd

5. What is the respective ratio of the numbers
of candidates failing in the exam from city D

to those failing in the exam from city A?

o Watch Video Solution

6. Number of candidates passing the exam
from city F' is what percent of the total
number of candidates appearing from all the

cities together?

o Watch Video Solution



https://dl.doubtnut.com/l/_fh7zwzt8CTBw
https://dl.doubtnut.com/l/_Kof6esXbeG2d

7. What is the number of unsuccessful

candidates in city D?

o Watch Video Solution

8. The mimicry shows held in city M are what

per cent of the drama shows held in city O?

o Watch Video Solution



https://dl.doubtnut.com/l/_Kof6esXbeG2d
https://dl.doubtnut.com/l/_lC66cOwcH9dV
https://dl.doubtnut.com/l/_WRKKe3pyxO5e

9. What is the average number of

entertainment shows held in city P?

° Watch Video Solution

10. If the number of music shows in cities IV
and @ is increased by5 %, what will be the
total number of music shows in both the cities

together?

o Watch Video Solution



https://dl.doubtnut.com/l/_wZyNeZj7e4Sc
https://dl.doubtnut.com/l/_2HA7od2OTErB
https://dl.doubtnut.com/l/_R4Ra7S5TSQnh

11. What is the number of stand up comedy

shows held in all the cities together?

o Watch Video Solution

Exercise Base Level Questions

1. Study the following table and answer the

questions based on it.The percentage increase
in the export of the commodity from the year

1998 to 1999 was the highest from which port?


https://dl.doubtnut.com/l/_R4Ra7S5TSQnh
https://dl.doubtnut.com/l/_wnIDSeOcBZf6

A A

B.B

C.C

D.D

Answer: B

° Watch Video Solution

2. Study the following table and answer the

questions based on it.What was the change in


https://dl.doubtnut.com/l/_wnIDSeOcBZf6
https://dl.doubtnut.com/l/_rOJAvQAA4Yl7

the aggregate export of the commodity in

theyear 1999 as compared to the year 1998?

A.Nearly 4.3 % increases

B. Nearly 4.3 % decreases

C. Nearly 0.04 % increases

D. Nearly 4.3 % dcreases

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rOJAvQAA4Yl7

3. Study the following table and answer the
questions based on it.What was the average
increase in the export of the commodity from
the ports in the year 1999 as compared the
year 19987

A. 782500000

B. 780000000

C. 7'75000000

D. 762500000

Answer: D


https://dl.doubtnut.com/l/_f4C9hjwcPr3j

° Watch Video Solution

4, Study the following table and answer the
questions based on it.The percentage increase
in the export of the commodity from the year
1998 to 1999 was the lowest from which port?
A A
B.B

C.C

D.D


https://dl.doubtnut.com/l/_f4C9hjwcPr3j
https://dl.doubtnut.com/l/_3XXColpsmad3

Answer: C

o Watch Video Solution

5. Study the following table and answer the
questions based on it. What is the average
population of state B (in lakh) for all the years
together?

A.25.24

B.24.44

C.24.24


https://dl.doubtnut.com/l/_3XXColpsmad3
https://dl.doubtnut.com/l/_TLwiNsMMX3DB

D. 2544

Answer: B

o Watch Video Solution

6. What is the ratio of the population of state

A in 2003 to the population of stateE in 20077

Population (in lakh) of five states
over the years

Year A B ‘ C _ D E

156 116 184 166 242
168 108 192 182 138
168 242 W8 | 178 258
184 264 B8 198 264

§55E2



https://dl.doubtnut.com/l/_TLwiNsMMX3DB
https://dl.doubtnut.com/l/_BHGPdQ7V11qW

A 37:22

B.22:37

C.47:26

D. 26:47

Answer: D

° Watch Video Solution

7. Population of state E in 2004 is

approximately what per cent of the population


https://dl.doubtnut.com/l/_BHGPdQ7V11qW
https://dl.doubtnut.com/l/_iAkpIdozXRIE

of state D in 20067

Population (in lakh) of five states

over the years

Y- | A | B | C D¢
2003 156 126 B4 | 166 | 242
2004 168 208 192 | 82 238
2005 188 242 198 | 178 | 258
2006 B4 264 208 | 198 | 264
2007 202 @ 282 226 | 224 | 282
A. 85
B. 95
C.110
D. 120

Answer: D



https://dl.doubtnut.com/l/_iAkpIdozXRIE

Watch Video Solution

8. What is the total population of all the states

together (in lakh) in 20057

A.106.4

B.98.4

C.96.8

D. 102.8

Answer: A

I ° Watch Video Solution


https://dl.doubtnut.com/l/_iAkpIdozXRIE
https://dl.doubtnut.com/l/_D3NF88lbG8KQ

9. Population of state E in 2007 is what per
cent of the total population of all the states

together in that year?

Population (in lakh) of five states
over the years

Yoo A|lBs|c| D] e

2003 156 126 18.4 166 242
2004 16.8 208 192 182 138
2005 188 242 198 178 | 258
2006 184 264 208 198 | 264
2007 202 82 26 | R4 282

A. 26

B. 25


https://dl.doubtnut.com/l/_D3NF88lbG8KQ
https://dl.doubtnut.com/l/_rZqKBT2rK4bi

C.23

D. 21

Answer: C

o Watch Video Solution

10. If from college B in 2007, 80 % of the
students enrolled appeared in a competitive
examination, out of which 75% students
passed, how many students passed the

examination?


https://dl.doubtnut.com/l/_rZqKBT2rK4bi
https://dl.doubtnut.com/l/_wKnKv84it6gh

A. 180

B. 216

C. 270

D. 240

Answer: B

° Watch Video Solution

11. In 2005, from all the colleges together on

overall 40 % of the students enrolled for a


https://dl.doubtnut.com/l/_wKnKv84it6gh
https://dl.doubtnut.com/l/_tfjFIKNLfu91

computer course. How many students enrolled

for the course?

A. 800

B. 850

C.950

D. 900

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tfjFIKNLfu91

12. What is the ratio between the average

number of students enrolled with all colleges

together in 2007 and 2008, respectively?

A.108:113

B.108: 117

C.110:113

D.111:113

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_elVVSHSnSnJi

13. Study the following table and answer the
following

Average number of students enrolled from
college B for all the years together is
approximately what per cent of the average
number of students enrolled from college C

for all the years together?

Mumber of students enrolled with
five collagas over tha yaars

| i
A B c D E

T" " . . - |
2004 450 5450 W00 480 5d0
2005 480 | 350 | 380 500 | 540
2006 420 | 300 @ 410 520 | 460
2007 460 360 | 430 470 | 480
340 390 530 | 530

2008 470


https://dl.doubtnut.com/l/_zbH8D9zH7xLO

A.73

B. 120

C. 128

D. 70

Answer: D

° Watch Video Solution

14. In 2006, from all colleges together, 8 % of

the students enrolled went abroad.


https://dl.doubtnut.com/l/_zbH8D9zH7xLO
https://dl.doubtnut.com/l/_MIIdhALzVsvO

Approximately, how many students went

abroad?

A.170

B. 210

C. 220

D. 190

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_MIIdhALzVsvO

15. What is the average number of students

studying commerce from all the institutes

together?

A.356

B.360

C. 348

D. 340

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ae0qJ3O9cEy3

16. Total number of students studying Art from
institutes A and B  togethr s
approximately,what per cent of total number
of students studying Computer Science from

these two institutes?

A. 84 %

B. 85 %

C.88 %

D. 95 %

Answer: D


https://dl.doubtnut.com/l/_p0G73m5755dx

° Watch Video Solution

17. Number of students studying Commerce
from institute D is what per cent of the total
number of students studying all the

disciplines together from this institutes?

1
A. 285 %

2
B. 283 %

2
C. 24§ %

1
D. 24§ %


https://dl.doubtnut.com/l/_p0G73m5755dx
https://dl.doubtnut.com/l/_NzlBr4Y6dTUg

Answer: B

o Watch Video Solution

18. What is the ratio of the total number of
students studying Science from institutes C
and D together to the total number of
students studying Computer Science from

these two institutes together?

A 13:12

B.12:13


https://dl.doubtnut.com/l/_NzlBr4Y6dTUg
https://dl.doubtnut.com/l/_CcVNri73lK18

C.13:15

D.15:13

Answer: A

o Watch Video Solution

19. A survey of film watching habits of people
living in five cities P, Q, R, S and T is
summarized below in a table. The column I in
the table gives percentage of film-watchers in

each city who see only one film a week. The


https://dl.doubtnut.com/l/_CcVNri73lK18
https://dl.doubtnut.com/l/_tTpXzdyzfAjt

column Il gives the total number of film-

watchers who see two or more films per week.

City [ "
p 60 24000
Q 20 30000
R 85 24000
5 55 27000
T 75 80000

How many film-watchers in city R see only one

film a week?

A. 24850

B. 36000

C. 136000

D. 160000


https://dl.doubtnut.com/l/_tTpXzdyzfAjt

Answer: C

° Watch Video Solution

20. A survey of film watching habits of people
living in five cities P, Q, R, S and T is
summarized below in a table. The column | in
five table gives percentage of film-watchers in
each city who see only one film a week. The
column Il gives the total number of film-

watchers who see two or more films per week.


https://dl.doubtnut.com/l/_tTpXzdyzfAjt
https://dl.doubtnut.com/l/_pw1CGwYmxjaw

Cliy mwdm Tolal na. of Toial ne. of
fllm watches people waiches peaple who waich
(enly ane Il-ulﬂ w0 oF mare auly cos movie
ilm) mavie weehs
P |60%(Owen) | 100-80 «40% | 24000 [Given) Le 0P = 3,000
40% of total people
in caty P

[¥] [Otven) | 100-30 = A0 | 50,000 (Given) Le., 0w = 7000
]

R |80 ([Given) | 100-85 « 16 | 24,000 (Given) L., 15% | 85% = 136,000

B (Given) | 100-B8 = 45% | 37,000 [Given) Le., A5% | 550 = 33,000

|75 (Given) | 100-79 = 35 | 50,000 [Civen) Le., 200 | 70 = 3.00,000

Tatal - 4.52.000

:In-h!!qulu—. R a8 24,000

ey | I § s 85 27,000
P a0 24,000 T

i) B0, 000

Which city has the highest number of film

watchers who see only one film in a week?

A P

B.R

C.S

D. T


https://dl.doubtnut.com/l/_pw1CGwYmxjaw

Answer: D

° Watch Video Solution

21. A survey of film watching habits of people
living in five cities P, Q, R, S and T is
summarised below in a table. The column I in
five table gives percentage of film-watchers in
each city who see only one film a week. The
column Il gives the total number of film-

watchers who see two or more films per week.


https://dl.doubtnut.com/l/_pw1CGwYmxjaw
https://dl.doubtnut.com/l/_AbGKXCstDpYt

City |Parcentage of| Parcatage of | Total no. of Total no. of
fm waiches |watohes people waiches propls who watch
(enly ane than ane) w0 oF mare auly cos movie
filimi) mavie weehs
P |60%(Owen) | 100-80 «40% | 24000 [Given) Le (P = 30,000
409 of total people
in city P
[¥] [Otven) | 100-30 = A0 | 50,000 (Given) Le., 0w = 7000
]
R |0 (Oiven) | 10D-B5 = 15% | 34,000 (Given) Le., 15% | B5% = 130,000
E] [Given) | TOO-B8 = 450 | 27,000 [Given) Le., 400 | 556 = 30,000
B - HO,000 (Ciiven) Lo, 259 | 700 = 240,000
Tatal - 4.52,000
:In-h!qulu—. ™ a8 24,000
ey | I 5 s 85 27,000
P 60 24,000 T

i) 80,000
A city with the lowest number of film-watchers

in any given city is :

A P

B.Q

C.S

D. T


https://dl.doubtnut.com/l/_AbGKXCstDpYt

Answer: B

° Watch Video Solution

22. A survey of film watching habits of people
living in five cities P, Q, R, S and T is
summarised below in a table. The column I in
five table gives percentage of film-watchers in
each city who see only one film a week. The
column Il gives the total number of film-

watchers who see two or more films per week.


https://dl.doubtnut.com/l/_AbGKXCstDpYt
https://dl.doubtnut.com/l/_iXJG5RWGeSWj

City |Parcentage of| Percatage of | Total ne. of Total no. of
fm waiches |watohes people waiches propls who watch
(enly ane than ane) w0 oF mare auly cos movie
flm) maovia weehs
P |60% Gven) | 100-00 «40% | 24000 (Given) Le 0% = 30,000
40% of total people
in ity P

[7] [Oiven) | 100-30 = 0w | 50,000 (Given) Le. T = 7000
O

R |B0W ([Oiven) | 10085 = 100 | 34,000 (Given) L., 150 | B5% = | 36,000

B | OO (Given) | 1X0-06 = 458 | 27,000 (Given) Le., 405 | 550 » 53,000

T |75 i - 0,000 (Liven) Le., 25 | 700 = 2,40,000

Tolal - 4.52,000

lowing questions. R B 24,000

City . § s 86 27,000
P 60 24,000 T 7

The maximum number of film-watchers in any

given city i

A.Q

B.R

C.S

D. T

S

B0, 000



https://dl.doubtnut.com/l/_iXJG5RWGeSWj

Answer: D

° View Text Solution

23. A survey of film watching habits of people
living in five cities P, Q, R, S and T is
summarised below in a table. The column I in
five table gives percentage of film-watchers in
each city who see only one film a week. The
column Il gives the total number of film-

watchers who see two or more films per week.


https://dl.doubtnut.com/l/_iXJG5RWGeSWj
https://dl.doubtnut.com/l/_6Fun2y3egfzC

TABLE

Clty |Percentage of Percstage of | Total me. of Total ne. of
fllm watches | watches (mare people walches people who watch
(enly ane than ane) twn or mare suly sos mevis
film) maovie weehn

P |80 [Oiven) | 100-00 =400 | 24000 [Civen) Le., 0 = 000

A0 of total people
in city P
0 [20% (Given) | 10020 = B0w | 30,000 (Given] Le., 0w = 7000

L]
A0 (Given) | 100-85 = 15% | 24,000 (Given) Le., 150 | B30 = | 30,000
B0 (Given) | 100-58 = 45% | 27,000 (CGiven) Le., 455 | 556 = 30,000
T [75% (Given) | 100-78 = 280 | 80,000 [Given) L., 250 | 75 = 340,000

Tatal = 453,000
Hoad the table and answer the fol- o 20 30,000
lowing questions. R an 24,000
e .2 . s 86 27,000
g o 24.000 T 7 80,000

The total number of all film-watchers in the
five cities who see only one film in a week is

A. 113000

B.425200

C. 452500

D. 500000


https://dl.doubtnut.com/l/_6Fun2y3egfzC

Answer: C

o Watch Video Solution

24. In how many years, the supply (in million

tons) of sugar was more than the average

supply from 2007 to 20127

A5

B.4

C.3

D.A


https://dl.doubtnut.com/l/_6Fun2y3egfzC
https://dl.doubtnut.com/l/_QLDFrsYuqNpS

Answer: C

o Watch Video Solution

25. The average surplus (in million tons) of

sugar for the period 2008 to 2012 is

A.1.44

B.1.84

C.1.53

D.1.22


https://dl.doubtnut.com/l/_QLDFrsYuqNpS
https://dl.doubtnut.com/l/_hT6759JAjOWP

Answer: D

o Watch Video Solution

26. The surplus of sugar was lowest for the

year

A. 2012

B. 2008

C. 2009

D. 2010


https://dl.doubtnut.com/l/_hT6759JAjOWP
https://dl.doubtnut.com/l/_BVkJQEKhIZnM

Answer: B

o Watch Video Solution

27. The percentage increase in demand of

sugar was the lowest as compared to its

previous year in

A. 2011

B. 2008

C. 2009

D. 2010


https://dl.doubtnut.com/l/_BVkJQEKhIZnM
https://dl.doubtnut.com/l/_BUNT0107XQaH

Answer: A

o Watch Video Solution

28. In which year, the production of cars of all
types taken together was approximately equal

to the average of the total production during


https://dl.doubtnut.com/l/_BUNT0107XQaH
https://dl.doubtnut.com/l/_BXRJcbesm7sT

the period?

The table given below shows production of
five types of cars by a company in the
years 1988 to 1884

- ~ Year l |
Type . 1989 1990 1991 1992 1993 | 1994 Towl

P | 8 |20 % |17 | NN | 6| 88
Q |10 W | 2| 12|94 |78
R
S
T

N |17 % |15 13 8 |%
4 6 W% W0 N |
5|18 9 || 44 27|13

Toal 724 |71 25| % m‘!ﬁl'ﬁ‘ﬁ

A. 1989

B. 1991

C. 1993

D. 1994

Answer: C


https://dl.doubtnut.com/l/_BXRJcbesm7sT

° Watch Video Solution

29. In which year, the total production of cars
of types P and (@) together was equal to the
total production of cars of typesR and S
together?

A. 1990

B. 1991

C. 1994

D. 1993


https://dl.doubtnut.com/l/_BXRJcbesm7sT
https://dl.doubtnut.com/l/_TXbStKdCvjoO

Answer: D

o Watch Video Solution

30. During the period 1989 — 94, which type of

cars had a continuous increase in production?

The table given below shows production of
five types of cars by a company in the
years 1989 to 1984

- T T

Year

1989 | 1990 1991 1991 199) 1994 Towl
p 8 20 16 17 N (] RR
Q 1% 10 14 12 12 14 78
R
5
r

I.

21 17 | % |15 13 8 90
4 & W | W% 20 N | &
H |18 119 | 30 W 27 | 133

* = L

Toral | 74 | 71 | 75 | 90 | 80 | 86 | 476

A P


https://dl.doubtnut.com/l/_TXbStKdCvjoO
https://dl.doubtnut.com/l/_QpojnEFMVSGr

B.Q

C.R

D.S

Answer: D

o Watch Video Solution

31. The production of which type of cars was
25 % of the total production of all types of

cars during 19937


https://dl.doubtnut.com/l/_QpojnEFMVSGr
https://dl.doubtnut.com/l/_VrOoCiW9fyqz

A P

B.R

C.0

D.S

Answer: D

° Watch Video Solution

32. The per cent increase in total production

of all types of cars in 1992 to that in 1991 was


https://dl.doubtnut.com/l/_VrOoCiW9fyqz
https://dl.doubtnut.com/l/_aNOJVuZumayF

A. 15

B. 20

C. 25

D. 30

Answer: B

° Watch Video Solution

33. The number of people who read at least
one type of magazine and are over 35 yr in

age, is


https://dl.doubtnut.com/l/_aNOJVuZumayF
https://dl.doubtnut.com/l/_r47tD8Y5EESS

A.36

B.130

C. 230

D. 180

Answer: C

° Watch Video Solution

34. The number of people in the age group
10 — 15 who reads only one type of magazine,

is


https://dl.doubtnut.com/l/_r47tD8Y5EESS
https://dl.doubtnut.com/l/_09e4rBTAdKiP

A. 25

B.70

C.95

D. 120

Answer: D

° Watch Video Solution

35. The number of females in the age group

16 — 35 who do not read sports magazine, is


https://dl.doubtnut.com/l/_09e4rBTAdKiP
https://dl.doubtnut.com/l/_g5RrIyPkglLK

A. 120

B. 90

C.60

D. 30

Answer: D

° Watch Video Solution

36. The number of males in the age group

16 — 35 who do not read film magazines, is


https://dl.doubtnut.com/l/_g5RrIyPkglLK
https://dl.doubtnut.com/l/_sWSbhpOwsgD8

A. 60

B. 80

C.140

D. 190

Answer: A

° Watch Video Solution

37. What per cent of people over 35 yr do not

read either type of magazine?


https://dl.doubtnut.com/l/_sWSbhpOwsgD8
https://dl.doubtnut.com/l/_tcpSTq7bQBcM

A. 14 %

B. 50.27 %

C.54 %

D. 63.49 %

Answer: D

o Watch Video Solution

38. The table shows the number of people who
responded to a survey about their favorite

style of music. What percentage of


https://dl.doubtnut.com/l/_tcpSTq7bQBcM
https://dl.doubtnut.com/l/_7dD2fmecCkGX

respondents under 31 indicated that Blues is

their favourite style of music?

A71%

B.7.6 %

C.8.3%

D.14.1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_7dD2fmecCkGX

39. The table shows the number of people who
responded to a survey about their favorite
style of musicWhat  percentage of
respondents aged 21 — 30 indicated a
favourite style other than Rock music?

A. 64 %

B. 60 %

C.75%

D. 36 %

Answer: A


https://dl.doubtnut.com/l/_pCP9cIZnxGSG

° Watch Video Solution

40. The table shows the number of people
who responded to a survey about their
favorite style of musicWhat percentage of the
total sample indicated that Jazz is their

favourite style of music?

A.6 %

B.8 %

C.22%


https://dl.doubtnut.com/l/_pCP9cIZnxGSG
https://dl.doubtnut.com/l/_Svxay0VYeXhh

D.12 %

Answer: D

o Watch Video Solution

41. The total number of late arrivals of trains is

A. 90

B. 95

C.145

D. 150



https://dl.doubtnut.com/l/_Svxay0VYeXhh
https://dl.doubtnut.com/l/_uC0h6Pxu8XiG

Answer: D

o Watch Video Solution

42. The total number of late departures of
trains is

A. 85

B. 87

C.90

D. 150


https://dl.doubtnut.com/l/_uC0h6Pxu8XiG
https://dl.doubtnut.com/l/_UofkibnEGD9M

Answer: C

o Watch Video Solution

43. The percentage of number of trains

arriving late at the station is

A.6 %

B.10.4 %

C.10.7 %

D.10.9 %


https://dl.doubtnut.com/l/_UofkibnEGD9M
https://dl.doubtnut.com/l/_HTbVrqTMtXYc

Answer: C

° Watch Video Solution

44. If the punctuality of railways is defined as
the number of occasions onwhich trains
arrived or departed in time as a percentage of
total number of arrivals and departures from
the station, then the punctuality for the

month under observation is

A.94.3 %


https://dl.doubtnut.com/l/_HTbVrqTMtXYc
https://dl.doubtnut.com/l/_qPeqBLycweCh

B.91.7 %

C.89.2 %

D.75 %

Answer: B

o Watch Video Solution

45. In which year, the production of scooters
of all factories was equal to the yearly average

number of scooters produced during

1985 — 897


https://dl.doubtnut.com/l/_qPeqBLycweCh
https://dl.doubtnut.com/l/_CYvNKUR3asJi

A. 1985

B. 1986

C. 1987

D. 1988

Answer: A

o Watch Video Solution

46. Which factory/factories showed a decrease
of 25 % in the production of scooters in 1989

as compared to 19887


https://dl.doubtnut.com/l/_CYvNKUR3asJi
https://dl.doubtnut.com/l/_ECVEQCVB7kDP

AP

B.S

C.Q

D.R

Answer: C

° Watch Video Solution

47. The ratio of the production of scooters by

factoryP to that by factory 7' in 1985 is


https://dl.doubtnut.com/l/_ECVEQCVB7kDP
https://dl.doubtnut.com/l/_1MN9DTPYw1sm

A 2:3

B.1:2

C.3:2

D.2:1

Answer: B

o Watch Video Solution

48. In which year was the total production of

scooters the maximum?


https://dl.doubtnut.com/l/_1MN9DTPYw1sm
https://dl.doubtnut.com/l/_e9HqLxcTUipo

A. 1989

B. 1986

C. 1987

D. 1995

Answer: C

o Watch Video Solution

49. In which year was the total production of
scooters of all factories 20 % of the total

production of scooters during 1985 — 1989?


https://dl.doubtnut.com/l/_e9HqLxcTUipo
https://dl.doubtnut.com/l/_JqVBMW9YhKrd

A. 1988

B. 1985

C. 1986

D. 1989

Answer: D

o Watch Video Solution

50. The number of tickets of movie B sold in

Hyderabad was approximately, what per cent


https://dl.doubtnut.com/l/_JqVBMW9YhKrd
https://dl.doubtnut.com/l/_uvD0UQfAEQq7

of the total number of tickets of the same

movie sold in all the cities together?

A. 15

B. 24

C.12

D. 20

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_uvD0UQfAEQq7

51. What is the difference between the number

of tickets of movie D sold in Kolkata and the

number of tickets of movie B sold in Lucknow?

A.700

B. 6000

C. 14000

D. 9000

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_eHrsRftK1bII

52. What is the average number of tickets of

movie C sold in all the six cities?

A. 15500

B. 2550

C. 24000

D. 25500

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Ej169D3uhE3V
https://dl.doubtnut.com/l/_HdeI8VvBSsnp

53. The number of tickets of movie FE sold in

Chennai is what per cent of number of tickets

of movies A sold in Mumbai?

A.170

B.70

C.30

D. 130

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HdeI8VvBSsnp
https://dl.doubtnut.com/l/_KxaENYPsbGX1

54. In which city was the total number of

tickets of all the five movies together sold the

minimum?
- _
D5 A 8 C D £
Mumbai 20 5 35 2% 18
Delhi 17 19 7 2% ..
Colkara L ¥ Fo] 19 21 17
Chesma 18 Fy ¥ 2B a4
Hyderabad % 7 % 29 2
Lucknow 15 a7 20 15 M
A. Delhi
B. Chennai
C. Lucknow

D. Kolkata


https://dl.doubtnut.com/l/_KxaENYPsbGX1

Answer: A

o Watch Video Solution

Higher Skill Level Questions

1. What is the total amount earned by store C

through the sale of M and O type products


https://dl.doubtnut.com/l/_KxaENYPsbGX1
https://dl.doubtnut.com/l/_NK87Vj9n2Dy7

together?

Z Product

A | 8| ¢ D | & | F
'LH!H"_I'FH_FI N P NP
L lsal13s a8 11260 104 61 124 @0 136 48| 126
M|71/45 53 3857 56 49 49 | 57 55 |45 47
N 4 12 & wis2| 15 54 s &2 ws|ss N
DRV NN Ma a0 "Me 9 9 an
P 6D 75 67 6856 92 44 04 |45 75 |9 78
Q43 16 |44 |15 |45 745 48 | 156 55 18255149

A. X2719.2 lakh

B. X271.92 lakh

C. X2.7192 lakh

D. X27.192 lakh


https://dl.doubtnut.com/l/_NK87Vj9n2Dy7

Answer: D

o Watch Video Solution

2. Number of L type product sold by store F'is
what percent of the number same type of
products sold by store £

A.76.33 %

B.124 %

C.83.33 %

D. 120 %


https://dl.doubtnut.com/l/_NK87Vj9n2Dy7
https://dl.doubtnut.com/l/_CApMwhDlWJeM

Answer: D

o Watch Video Solution

3. What is the difference in the amount earned
by store A through the sale of P type
products and that earned by store B through
the sale of () type products?

A. X 38.4 lakh

B. X0.384 lakh

C. X3.84 lakh


https://dl.doubtnut.com/l/_CApMwhDlWJeM
https://dl.doubtnut.com/l/_IVhbAaUOO5ic

D. X384 lakh

Answer: A

° Watch Video Solution

4. What is the respective ratio of total number
of N and L type products together sold by

store D and the same products sold by store

A?

A.119:104


https://dl.doubtnut.com/l/_IVhbAaUOO5ic
https://dl.doubtnut.com/l/_by4k14khcC4X

B.102:115

C.104:115

D.115: 102

Answer: D

o Watch Video Solution

5. What is the average price per product

charged by all the stores together for product


https://dl.doubtnut.com/l/_by4k14khcC4X
https://dl.doubtnut.com/l/_vY5lJtr69J01

h'q-- A l - “c'_ -i——m— + -!——1 —
e N P NP N P NP N P NP
Lise 195 am112/60 108 61 124 @ 13648 126
M7 45 i!lll 57/ 56 49| 49 | 57 | 55 |45| 47
Niam 12 @ w52l s sains| & wasissl 1
D52 9 |55 4@ 0 4 & 5N & 80
Pleo| 75 |67 68 56/ 92 44 84 (46 7% |99 ™
Q |43] 16 |44 | 15 |45 145 48 156 55 182|55 149

A. 714700

B. 715700

C. X15200

D. X'14800


https://dl.doubtnut.com/l/_vY5lJtr69J01

Answer: B

o Watch Video Solution

6. Study the following table carefully and
answer the questions given below: Number
(N) of Candidates (In lakhs) Appearing for An
Entrance Examination from six different States

and The percentage (P) of candidates clearing


https://dl.doubtnut.com/l/_vY5lJtr69J01
https://dl.doubtnut.com/l/_cu04Icw2HPjf

the Same over the years.

STATE
YEAR |
2004
2005
2006
2007
2008
2009

A B Cc D E F

N P NP NPNUWPNPNP
1.23 42 1.04 51 1.11 32 1.32 24 1.23 36 1.33 31
1.05 43 1.12 62 1.07 47 1.15 49 1.18 55 1.24 24
2.04 38 1.48 32 1.08 28 1.96 35 1.42 49 1.58 26
1.98 41 2.07 43 1.19 30 1.88 46 1.36 47 1.79 29
1.66 53 1.81 50 1.56 42 1.83 60 1.73 57 1.86 34
1.57 39 1.73 36 1.64 52 2.01 56 1.69 55 1.95 37

A. 2008

B. 2006

C. 2009

D. 2007

Answer: C

| e


https://dl.doubtnut.com/l/_cu04Icw2HPjf

| & View Text Solution

7.What is the respective ratio of total number
of candidates clearing the entrance exam from
stateB in the year 2004 to those clearing the

entrance exam from state C'in the same year?

STATE- A B Cc D E F

YEAR| N P N P N P NP NP NP
2004 1.23 42 1.04 51 1.11 32 1.32 24 1.23 36 1.33 31
2005 1.05 43 1.12 62 1.07 47 1.15 49 1.18 55 1.24 24
2006 2.04 38 1.48 32 1.08 28 1.96 35 1.42 49 1.58 26
2007 1.98 41 2.07 43 1.19 30 1.88 46 1.36 47 1.79 29
2008 1.66 53 1.81 50 1.56 42 1.83 60 1.73 57 1.86 34

2009 1.57 39 1.73 36 1.64 52 2.01 56 1.69 55 1.95 37

A.221:148


https://dl.doubtnut.com/l/_cu04Icw2HPjf
https://dl.doubtnut.com/l/_qqVE0IxXPdOy

B.218: 143

C. 148: 221

D. 143: 218

Answer: A

o View Text Solution

8. What is the total number of candidates
clearing the entrance exam from states F and
F together in the year 20067

>


https://dl.doubtnut.com/l/_qqVE0IxXPdOy
https://dl.doubtnut.com/l/_dBQaLOUNTi2Z

A. 16160

B. 110660

C. 1.1066

D. 1106600

Answer: B

o View Text Solution

9. What is the average number of candidates

appearing for the entrance exam from state D


https://dl.doubtnut.com/l/_dBQaLOUNTi2Z
https://dl.doubtnut.com/l/_jRrlBXd2qU31

in the years 2007, 2008 and 2009 together?

STATE- A B Cc D E F

YEAR| N P N P N P NP N P N P
2004 1.23 42 1.04 51 1.11 32 1.32 24 1.23 36 1.33 31
2005 1.05 43 1.12 62 1.07 47 1.15 49 1.18 55 1.24 24
2006 2.04 38 1.48 32 1.08 28 1.96 35 1.42 49 1.58 26
2007 1.98 41 2.07 43 1.19 30 1.88 46 1.36 47 1.79 29
2008 1.66 53 1.81 50 1.56 42 1.83 60 1.73 57 1.86 34
2009 1.57 39 1.73 36 1.64 52 2.01 56 1.69 55 1.95 37

A19072
-1.9073

B. 18666 2
' 3

C 18662
- 1.8667

2
D. 190666§

Answer: D

| e


https://dl.doubtnut.com/l/_jRrlBXd2qU31

| & View Text Solution

10. What is the number of candidates not
clearing the entrance exam from State A in

the year 20077

STATE—~ A B C D E F

YEAR| N P N P N P N P N P N P
2004 1.23 42 1.04 51 1.11 32 1.32 24 1.23 36 1.33 31
2005 1.05 43 1.12 62 1.07 47 1.15 49 1.18 55 1.24 24
2006 2.04 38 1.48 32 1.08 28 1.96 35 1.42 49 1.58 26
2007 1.98 41 2.07 43 1.19 30 1.88 46 1.36 47 1.79 29
2008 1.66 53 1.81 50 1.56 42 1.83 60 1.73 57 1.86 34
2009 1.57 39 1.73 36 1.64 52 2.01 56 1.69 55 1.95 37

A. 186820

B. 11682


https://dl.doubtnut.com/l/_jRrlBXd2qU31
https://dl.doubtnut.com/l/_hkUJ39VdJhxf

C. 1868200

D. 116820

Answer: D

° Watch Video Solution

11. Which shopkeeper's profit kept increasing

continuously over the given months?


https://dl.doubtnut.com/l/_hkUJ39VdJhxf
https://dl.doubtnut.com/l/_NmUe9xbU0ovW

STATE —
YEAR |
2004
2005
2006
2007
2008
2009

A.R

A B C D E F

N P NP NWPNUPNUPNP
1.23 42 1.04 51 1.11 32 1.32 24 1.23 36 1.33 31
1.05 43 1.12 62 1.07 47 1.15 49 1.18 55 1.24 24
2.04 38 1.48 32 1.08 28 1.96 35 1.42 49 1.58 26
1.98 41 2.07 43 1.19 30 1.88 46 1.36 47 1.79 29
1.66 53 1.81 50 1.56 42 1.83 60 1.73 57 1.86 34
1.57 39 1.73 36 1.64 52 2.01 56 1.69 55 1.95 37

B.Q

C.T

D.U

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_NmUe9xbU0ovW

12. What was the average profit earned by
shopkeeper R in the months of October 2009

and November 2009 together?

STATE- A B Cc D E F

YEAR| N P N P N P NP NP NP
2004 1.23 42 1.04 51 1.11 32 1.32 24 1.23 36 1.33 31
2005 1.05 43 1.12 62 1.07 47 1.15 49 1.18 55 1.24 24
2006 2.04 38 1.48 32 1.08 28 1.96 35 1.42 49 1.58 26
2007 1.98 41 2.07 43 1.19 30 1.88 46 1.36 47 1.79 29
2008 1.66 53 1.81 50 1.56 42 1.83 60 1.73 57 1.86 34
2009 1.57 39 1.73 36 1.64 52 2.01 56 1.69 55 1.95 37

A. 5405
B. 5040

C. 4850


https://dl.doubtnut.com/l/_NmUe9xbU0ovW
https://dl.doubtnut.com/l/_hgMzkJN0Qjjr

D. 4950

Answer: A

o View Text Solution

13. What is the percentage increase in profit of

shopkeeper S in the month of December 2009


https://dl.doubtnut.com/l/_hgMzkJN0Qjjr
https://dl.doubtnut.com/l/_UUUdTFydYjWk

over the previous month?

STATE
YEAR |
2004
2005
2006
2007
2008
2009

A B Cc D E F

N P NP NPNUWPNPNP
1.23 42 1.04 51 1.11 32 1.32 24 1.23 36 1.33 31
1.05 43 1.12 62 1.07 47 1.15 49 1.18 55 1.24 24
2.04 38 1.48 32 1.08 28 1.96 35 1.42 49 1.58 26
1.98 41 2.07 43 1.19 30 1.88 46 1.36 47 1.79 29
1.66 53 1.81 50 1.56 42 1.83 60 1.73 57 1.86 34
1.57 39 1.73 36 1.64 52 2.01 56 1.69 55 1.95 37

A.3.15%

B.2.67 %

C.2.18%

D.3.33%

Answer: D

| e


https://dl.doubtnut.com/l/_UUUdTFydYjWk

| & View Text Solution

14. Study the table carefully to answer the

questions that follow

What is the respective ratio between the profit
earned by shopkeeper U in the months of
February 2010 and March 2010 together to

that earned by shopkeeper @) in the same

months?
Profit (in Rs. 000s) made by six different shopkeepers over the months

Month October | November | December | January | February| March
Shopkeeper | 2009 2009 2009 2010 2010 2010
P 5.25 6.04 5.84 6.1 5.95 6.02

Q 4.84 4.28 4.97 4.88 5.04 5.12

R 4.99 5.82 5.48 5.45 3.68 5.36

S 5.06 5.11 5.28 5.38 5.44 5.59

T 5.28 4.96 5.31 5.69 4.93 5.72

U 5.94 6.23 5.87 6.07 6.19 6.23



https://dl.doubtnut.com/l/_UUUdTFydYjWk
https://dl.doubtnut.com/l/_AtCEwprzhxdQ

A.637:512

B. 621 : 508

C.512:637

D. 508: 621

Answer: B

o View Text Solution

15. What is the difference in profit earned by

shopkeeper T' in January 2010 from the


https://dl.doubtnut.com/l/_AtCEwprzhxdQ
https://dl.doubtnut.com/l/_aT4C8H1rSTNF

previous month?

Profit (in Rs. 000s) made by six different shopkeepers over the months

A. X640

B. X420

C. X380

D. X760

Answer: C

Month October | November | December | January | February| March
Shopkeeper | 2009 2009 2009 2010 2010 2010
P 5.25 6.04 5.84 6.1 5.95 6.02
Q 4.84 4.28 4.97 4.88 5.04 5.12
R 4.99 5.82 5.48 5.45 5.68 5.36
5 5.06 5.11 5.28 5.38 5.44 5.59
T 5.28 4.96 5.31 5.69 4.93 5.72
U 5.94 6.23 5.87 6.07 6.19 6.23

o View Text Solution



https://dl.doubtnut.com/l/_aT4C8H1rSTNF

sumber of Candidates appeared in . ('OInpcfiti\'C Examination
From Five Centres Over « he Years
(SBI Rural Business PO 2010)

- e -
Centre — |

Mumbai Delhi | Kolkata | Hyderabad | Chennai

Year |
2001 35145 165139 ] 45192 |  S1124 37346
2002 17264 | 58248 | 52314 50248 48932
2003 24800 | 63309 | 56469 52368 51406

2004 28316 | 70316 | 71253 54196 52315
2005 | 36503 | 69294 | 69632 58360 55492
2006 1 29129 159216 | 64178 48230 57365
2007 | 32438 [ 61345 56304 49178 58492

16.

Approximate Percentages of Candidates Qualified To Appe\
In the Competitive Examination From Five Centres Over the

year
(‘éntre -> - .
 Year | Mumbai | Delhi | Kolkata Hyderabad | Chennai
24 18 17 9
% | 2t TR
21 23 25 =
27 19 24 e
23 16 2 3
20 21 19 11

Approximately = how  many  candidates
appearing from Kolkata in 2004 qualified int

eh competitive examination ?


https://dl.doubtnut.com/l/_zV6LMKEbfIFF

Approximately what was the difference the
number of candidates qualified from
Hyderabad in 2001 and 2002 ?

A. 1680

B. 1440

C. 1450

D. 2060

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_zV6LMKEbfIFF
https://dl.doubtnut.com/l/_MvS8zuzXBLHZ

\umber of Candidates appeared in . Competitive Examination
From Five Centres Over « he Years
(SBI Rural Business PO 2010)

N T T
|

Centre —

Mumbai Delhi | Kolkata | Hyderabad | Chennai

Year |
2001 35145 65139 | 45192 51124 37346
2002 17264 | 58248 | 52314 50248 48932
2003 24800 | 63309 | 56469 52368 51406
2004 28316 | 70316 | 71253 54196 52315

2005 | 36503 11169294 69632 58360 55492
2006 | 29129 [59216 64178 48230 57365

2007 | 32438 [61345| 56304 49178 58492

17.

Approximate Percentages of Candidates Qualified To Appe\
In the Competitive Examination From Five Centres Over the

year
[ Centre - | 77\

| Year | Mumbai | Delhi | Kolkata Hyderabad | Chennai

24 18 17 9

28 12 21 | 12

21 23 25 b

0 [ 19 24 8

23 16 23 13

20 21 19 11

19 [ 24 20 14

Approximately wha was the total number of
candidates qualified from Delhi in 2002 and

2006 together?


https://dl.doubtnut.com/l/_MvS8zuzXBLHZ

A. 27250

B. 25230

C. 30150

D. 26250

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_MvS8zuzXBLHZ

sumber of Candidates appeared in . ('OInpcfiti\'C Examination
From Five Centres Over « he Years
(SBI Rural Business PO 2010)

R T
|

€T NMumbai | Delhi | Kolkata | Hyderabad | Chennai
Year |
2001 35145 165139 ] 45192 |  S1124 37346
2002 17264 | 58248 | 52314 50248 48932
2003 24800 | 63309 | 56469 52368 51406

2004 28316 | 70316 | 71253 54196 52315
2005 | 36503 | 69294 | 69632 58360 55492
2006 1 29129 159216 | 64178 48230 57365
2007 | 32438 [ 61345 56304 49178 58492

18.

Approximate Percentages of Candidates Qualified To Appe\
In the Competitive Examination From Five Centres Over the

year
[Centre > | 7‘»&\
 Year | Mumbai | Delhi | Kolkata Hyderabad | Chennai
24 18 17 9
% | 2t TR
21 23 25 =
27 19 24 e
23 16 2 3
20 21 19 11

In which of the following years was the
number of canditates qualified from Chennai,

maximum among the given years ?


https://dl.doubtnut.com/l/_gM9sn9GzsQm6

A. 2004

B. 2006

C. 2007

D. 2002

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gM9sn9GzsQm6

sumber of Candidates appeared in . ('OInpcfiti\'C Examination
From Five Centres Over « he Years
(SBI Rural Business PO 2010)

R T
|

€T NMumbai | Delhi | Kolkata | Hyderabad | Chennai
Year |
2001 35145 165139 ] 45192 |  S1124 37346
2002 17264 | 58248 | 52314 50248 48932
2003 24800 | 63309 | 56469 52368 51406

2004 28316 | 70316 | 71253 54196 52315
2005 | 36503 | 69294 | 69632 58360 55492
2006 1 29129 159216 | 64178 48230 57365
2007 | 32438 [ 61345 56304 49178 58492

19.

Approximate Percentages of Candidates Qualified To Appe\
In the Competitive Examination From Five Centres Over the

year
[Centre > | 7‘»&\
 Year | Mumbai | Delhi | Kolkata Hyderabad | Chennai
24 18 17 9
% | 2t TR
21 23 25 =
27 19 24 e
23 16 2 3
20 21 19 11

In which of the following years was the
number of canditates qualified from Chennai,

maximum among the given years ?


https://dl.doubtnut.com/l/_hSq6PI7UOqX1

A. 2007

B. 2006

C. 2005

D. 2003

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hSq6PI7UOqX1

sumber of Candidates appearedin . ('omp(‘tviti\'(‘ Examination
From Five Centres Over 1 he Years
(SBI Rural Business PO 2010)

_ — T
Centre — ‘

Mumbai Delhi | Kolkata | Hyderabad | Chennai

Year - 4
2001 35145 65139 | 45192 51124 37346
2002 17264 | 58248 | 52314 50248 48932

2003 24800 63309 | 56469 52368 51406
2004 28316 | 70316 | 71253 54196 52315
2005 | 36503 | 69294 | 69632 58360 55492
2006 1 29129 [59216 | 64178 48230 57365
2007 | 32438 [ 61345 | 56304 49178 58492

20.

Approximate Percentages of Candidates Qualified To Appe\
In the Competitive Examination From Five Centres Over the

year
[Centre > | 7‘»&\
 Year | Mumbai | Delhi | Kolkata Hyderabad | Chennai
24 18 17 9
% | 2t TR
21 23 25 =
27 19 24 e
23 16 2 3
20 21 19 11

Approximately = how  many  candidates
appearing from Kolkata in 2004 qualified int

eh competitive examination ?


https://dl.doubtnut.com/l/_2DjbMSEhoZGv

A. 13230

B. 13540

C. 15130

D. 15400

Answer: B

° Watch Video Solution

21. What is approximate overall percentage

obtained by C in the examination?


https://dl.doubtnut.com/l/_2DjbMSEhoZGv
https://dl.doubtnut.com/l/_QiVpIVDiuzvK

A.78

B. 69

C.75

D. 71

Answer: D

° View Text Solution

22. What is the difference in the marks

obtained by B in English and Mathematics


https://dl.doubtnut.com/l/_QiVpIVDiuzvK
https://dl.doubtnut.com/l/_XGFJeUDaDDLy

together and the marks obtained by F' in the

same subjects?

A 24

B.17

C.15

D. 28

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_XGFJeUDaDDLy

23. The marks obtained by E in Geography are

what per cent of the marks obtained by E in

Hindi?

A. 45 %

B.55 %

C.59 %

D. 60 %

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_8cwVYpZVtgtc

24. Study the following table carefully and
answer the question given below

No of marks obtained by Five Students in Five
Subjects in an Examination table....

What is the overall percentage marks obtained

by D in History and Geography together?

(Total marks in all the five Subjects are 200)

Subject—| English Mathematics History Geography Science
Students 4

A 115 180 120 90 140

B 170 105 150 135 100

C 102 108 132 110 90

D 98 106 162 148 120

E 163 125 136 124 115

A.73.40

B. 72.80


https://dl.doubtnut.com/l/_Q6EVZcThyL29

C.70.50

D. 68.80

Answer: B

° View Text Solution

25. What is the average marks obtained by all

the students together in Science?

A 77.16

B. 120.50


https://dl.doubtnut.com/l/_Q6EVZcThyL29
https://dl.doubtnut.com/l/_rzyWKxFa4zEj

C. 118

D. 121

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_rzyWKxFa4zEj

